



Nome: _____

Data: _____ Punteggio: _____

$$\frac{2}{3} + \frac{1}{4} - \frac{3}{5} \times \frac{1}{5} =$$

$$\frac{1}{2} - \frac{3}{4} + \frac{1}{2} \times \frac{1}{2} =$$

$$\frac{1}{3} - 9 \times \frac{2}{5} \div 3 =$$

$$\frac{2}{5} - \frac{2}{3} - \frac{2}{3} \times \frac{1}{5} =$$

$$\frac{3}{2} - \frac{3}{5} \times \frac{3}{4} + \frac{1}{6} =$$

$$\frac{1}{6} - 54 \times \frac{1}{2} \div 9 =$$

$$\frac{1}{2} - 42 \times \frac{2}{3} \div 6 =$$

$$\frac{1}{2} - \frac{1}{2} \times \frac{1}{3} - \frac{1}{6} =$$

$$55 \times \frac{1}{3} \div 11 - \frac{3}{4} =$$

$$18 \times \frac{1}{5} \div 3 - \frac{1}{2} =$$